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Roll No. ………………...            Code Number: ……………… 

       Invigilator Signature: ……… 

 

Session- 2023-2024 

B.A. B.Ed. Examination  

Teaching Aptitude, Reasoning and General Awareness, Paper 2nd   

Time: 03.00 Hrs.        Total Marks: 100 

 All Questions are Compulsory. 

 Multiple Choice Question.  

 All Question Carry One Marks. 

 There is No Negative marking.  

 

1. A child-centered classroom is one in which 

a) the teacher uses the textbook as the only source of knowledge. 

b) the teacher segregates the children based on their abilities. 

c) the teacher uses rewards and punishments to direct children’s 

behaviour. 

d) the teacher is flexible and caters to needs of individual children. 

 

2. Learning is a _________ and _________ process. 

a) complex; active 

b) simple; linear 

c) simple; individual 

d) complex; passive 

3. Teacher’s class-room behavior should be good because— 

a)  It will set an example 

b)  It will make students more attentive  

c)  It will make the environment conducive to learning 

d)  It will draw appreciation from students 
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4. The most significant role of a teacher in a class is to act as a person 

who is intended to: 

a) Teach content to the students 

b) Ensure discipline among students 

c) Train the students 

d) Guide the students 

 

5. Document ‘Learning without Burden' was published in: 

a) 1991 

b) 1993 

c) 1992 

d) 1994 

 

6. Who is an effective teacher? 

      A teacher: 

a) whose class is disciplined. 

b) who asks questions in the class. 

c) who teaches with enthusiasm in the class. 

d) who makes his subject matter readily comprehensible. 

 

7. Which of the following is NOT a suitable learning material for 

students who are partially sighted? 

a) Large-print books 

b) Three dimensional maps and charts 

c) Talking books, felt bulletin boards 

d) Small-print worksheets 

 

8. Children’s failure in school- 

a) suggests that children from deprived backgrounds are not 

capable of learning. 

b) indicates that school has not been able to cater to the needs and 

interests of these children. 

c) proves that these children have genetic birth defects and hence 

should be pulled out from school. 
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d) signifies that parents have not been able to support their children 

to learn.  

 

9. Of the following, the most appropriate step for a teacher to 

improve class discipline is to: 

a) implement punishment 

b) evaluate and improve his/her teaching material, methods, 

approaches 

c) call principal 

d) call a teacher-parent meeting to discuss the situation 

 

10. A student comes late in your class. Then you will: 

a) inform to parents  

b) punish him 

c) try to know the reason  

d) not pay attention 

 

11. Before teaching, teacher performs: 

a) Identification of objectives 

b) Knowledge of interests of students 

c) Preparation of Lesson Plan 

d) All of the above 

 

12. The latest National Curriculum framework for school education 

was proposed in which year? 

a) 2005  

b) 2006  

c) 2007  

d) 2008 

 

13. Education according to Indian constitution is the subject of which 

list? 

a) Union List  

b) State List 

c) Concurrent List  
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d) Provincial List 

 

14. The most important challenge before a school teacher is: 

a) To maintain discipline in the classroom 

b) To design good question paper 

c) To make teaching-learning process enjoyable 

d) To make students do their home work 

 

15. The latest National Curriculum framework for Teacher Education 

was proposed in which year? 

a) 2005  

b) 2007 

c) 2009  

d) 2013 

16. Good teaching is best reflected by: 

a) pin-drop silence in the class 

b) high attendance of students in the class 

c) large number of distinctions in the subject amongst students 

d) meaningful questions asked by the students 

 

17. Which of the following school system is meant for promoting 

rural talent? 

a) Kasturba Gandhi Vidyalayas 

b) Kendriya Vidyalaya 

c) Vishisht Vidyalayas 

d) Navodaya Vidyalayas 

 

18. A parent of a student refuses to give permission for her child to go 

on an educational excursion. The teacher should first: 

a) refer the matter to the Principal 

b) confer with the parent to discuss the educational purpose of the 

trip 

c) give the class a homework assignment for all parents to Sign, 

giving reasons why each child wants to go on the trip 
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d) ask another teacher in the same class to take that child on the 

day of the trip 

 

19. Tenzin tells his teacher that three other boys, who the teacher 

knows are Tenzin's friends, copy from each other on all the tests. 

Of the following the teacher is best advised to first: 

a) give the three boys a zero on the last two tests 

b) discuss with Tenzin's father 

c) try to understand why Tenzin said this 

d) Ignore the remark 

 

20. Which of the following Education System is proposed by NEP 

2020 in our country? 

a) 10 + 2 + 2  

b) 5 + 3 + 3 + 4 

c) 10 + 2 + 3 

d) 11 + 1 + 3 

 

21. Which one of the following is the focal point of the entire teaching 

system? 

a) Knowledge  

b) Student  

c) School  

d) Teacher 

 

 

22. What will you do as a teacher, if the students do not attend your 

class? 

a) Know the reasons and try to remove them 

b) Think of using some interesting methods of teaching 

c) Keep quiet, considering the present attitude of students as the 

change of the culture 

d) Blame the students for their absence 

 

23. Efficiency of a Principal depends mostly upon: 
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a) maintaining good relationship with students 

b) maintaining good relationship with teachers 

c) maintaining good relationship with parents 

d) maintaining good human relationship 

 

24. A disabled child's chances for success in school will be maximized 

when: 

a) He/She is given a high concentration in the subjects 

b) He/She is provided with vocational training earlier than other 

children 

c) He/She is treated like any other child 

d) His/Her intellectual potential is discovered and his/her 

educational deficiencies are overcome 

25. Which of the following is a desirable trait of a teacher? 

a) To award good marks 

b) To remove students' difficulties 

c) To give grace marks for a pass 

d) To maintain discipline at any cost 

 

26. According to NCF 2005, which one of the following is NOT a 

major shift? 

a) Teacher centric to Learner centric 

b) Learner autonomy to Teacher direction 

c) Passive to active reception in learning 

d) Learning within four walls of the classroom to learning in the 

wider social context 

 

27. NCF 2005 emphasizes the most is: 

a) To solve hard questions 

b) To memorise the concepts 

c) On construction of knowledge 

d) To do mathematics speedily 

 

28. National Education Policy 2020 emphasises on- 

a) flexible multi-level activity based learning. 
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b) only the aspects related to cognitive development of children 

c) standardization of a national curriculum. 

d) measurement of memorization abilities of children. 

 

29. According to NEP 2020, what is the full form of ECCE? 

a) Education of a caring child in elementary class 

b) Elementary classes of child education 

c) Educational classes for caring early childhood 

d) Early Childhood Care and Education 

30. The prime focus of NCF was child-centric learning and 

a) Learning without burden 

b) Learning through play way 

c) Learning through behaviorist approach 

d) Learning through pictorials 

31. Anand is older than Shashank but younger than Rohan, 

Dhanashree is younger than Seema but older than Rajshree, If 

Rajshree is older than Shashank, who amongst them is the oldest? 

a) Rohan  

b) Seema  

c) Dhanashree  

d) Cannot be determined 

32. 49: 81 : : 64: ? 

a) 36  

b) 100 

c) 121  

d) 144 

33. In this series of numbers, write the next one: 

     8,14,10,20,26,22, .......... 

a) 28  

b) 18  

c) 44  

d) 42 
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34. Pointing to a man in photograph, a woman said, "His brother's 

father is the only son of my grandfather." How is the woman 

related to the man in the photograph? 

a) Mother  

b) Aunt  

c) Daughter  

d) Sister 

35. If 5 x 4 = 15, 7 x 8 = 49 and 6 x 5 = 24, then what will be the 

value of 8 x 4 ? 

a) 24  

b) 26  

c) 28  

d) 30 

36. ABDH is related to 'ZYWS in the same way as EFHL is related to: 

a) VOSU  

b) VUSO  

c) USOV  

d) TUSV 

37. Harish ranks 16th from the top in a class of 49 students. What is 

his rank from the bottom? 

a) 34th  

b) 33rd  

c) 24th  

d) 36th 

 

38. If 'x' means 'sum'; '-' means 'division'; + means 'subtraction' and 

'+' means 'multiplication' then which of the following equation is 

correct? 

a) 16 + 5 -10 x 4 + 3 = 9  

b) 16 - 5 x 10 + 4 + 3 = 12 

c) 16 + 5 + 10 x 4 - 3 = 9  

d) 16 x 5 + 10 + 4 - 3 = 19 
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39. Car: Garage : : Aeroplane: ? 

a) Port  

b) Depot 

c) Hanger 

d) Harbour 

 

40. Arrange the words given below in a meaningful sequence. 

1. Police 

2. Punishment 

3. Crime 

4. Judge 

5. Judgement 

 

a) 3, 1, 2, 4, 5 

b) 1, 2, 4, 3, 5 

c) 5, 4, 3, 2, 1 

d) 3, 1, 4, 5, 2 

 

41. Which state hosted B20 Meeting under India’s G20 presidency? 

a) Nagaland 

b) Sikkim 

c) Arunachal Pradesh 

d) Himanchal Pradesh 

 

42. Which country won title of 2023 ICC U-19 Women’s T20 World 

Cup? 

a) India 

b) Australia 

c) England  

d) South Africa 

 

43. Who has launched India’s first national assessment regulator, 

PARAKH? 

a) UGC 

b) NAAC 



Page 10 of 20 
 

c) NCTE 

d) NCERT 

 

44. Which Country won the title of FIFA World Cup, 2022?   

a) France 

b) Brazil 

c) Argentina 

d)  Croatia 

 

45. Which country hosted Global Buddhist Summit, 2023?  

a) Thailand 

b) Japan 

c) Philippines  

d) India  

 

46. Who is the author of book “Ambedkar: A Life”? 

a) Shashi Tharoor 

b)  Dr. B R Ambedkar 

c)  Ram Chandra Guha 

d)  Dalai Lama 

 

47. Which state’s Kangra Tea got the European GI Tag?   

a) Assam   

b) Uttarakhand  

c) Himachal Pradesh 

d)  Ladakh 

 

48. Which state launched the ‘One District One Sport’ scheme?  

a) Punjab 

b) Uttar Pradesh 

c) Uttarakhand 

d) Haryana 
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49. Which Country won maximum Gold Medal at ‘Women’s World 

Boxing Championships, 2023? 

a) Russia 

b) China 

c) India 

d) Australia  

 

50. When is ‘Tibetan Uprising Day’ celebrated every year? 

a) 8 March 

b) 10 March 

c) 12 March 

d) 14 March 

 

51. Who built the Stupa of Sanchi? 

a) Ashoka 

b) Kanishka 

c) Harsha 

d) Buddhagupta 

 

52. What was the name of the journal started by Mahatma Gandhi? 

a) Tribune 

b) Sandhya 

c) Harijan 

d) New India 

 

53. Fourth Buddhist Council was held at: 

a) Sarnath 

b) Nalanda 

c) Kundalban 

d) Taxila 

 

54. Which one of the following pair is incorrect? 

a) Restriction on Sati                   -               Raja Ram Mohan Roy 

b) Bhoodan                                  -               Mahatma Gandhi 

c) Restriction on Child Marriage -               Har Vilas Sharda 
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d) Arya Samaj                                  -               Dayanand Saraswati 

 

55. What is the first sermon given by Gautam Buddha known as? 

a) Dharmachakrapravartan 

b) Nirvana 

c) Mahabhinishkramana 

d) None of the above 

 

56. Which one of the following was a Harappan port site? 

a) Dholavira 

b) Lothal 

c) Kalibangan 

d) Harappa 

 

57. The founder of the First Girls' School in Pune was: 

a) M. G. Ranade 

b) Pandita Rama Bai 

c) Shavitri Bai Phule 

d) Raja Ram Mohan 

 

58. Buddha was born in: 

a) Sakya family 

b) Vajji family 

c) Malla family 

d) None of these 

 

59. Which Mughal Emperor was defeated by Sher Shah? 

a) Akbar 

b) Humayun 

c) Babur 

d) Aurangzeb 

 

60. Who among the following was the proponent of Non-Cooperation 

Movement in India? 

a) Malaviyaji 
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b) Gandhiji 

c) Aurobindo 

d) Dayananda 

 

61. In each of the following situations, identify the ‘minority’.  

a) In a school with 30 teachers, 20 of them are male. 

b) In a city, 5 per cent of the population are Buddhists. 

c) In a factory mess for all employees, 80 per cent are vegetarians. 

d) In a class of 50 students, 40 belong to more well-off families. 

 

62. Which one of the following statements about the judiciary is false? 

a) Every law passed by the Parliament needs approval of the 

Supreme Court. 

b) Judiciary can strike down a law if it goes against the spirit of the 

Constitution. 

c) Judiciary is independent of the Executive. 

d) Any citizen can approach the courts if her rights are violated. 

 

63. Who is the author of ‘The Prince'? 

a) Marsigleo of Padua 

b) Machiavelli 

c) Hobbes 

d) Hegel 

 

64. Who among the following was the Chairman of the Drafting 

Committee in the Constituent Assembly of India? 

a) Dr. B. R. Ambedkar 

b) Dr. Rajendra Prasad 

c) Jawaharlal Nehru 

d) C. Rajagopalachari 

 

65. Who is called the Father of Political Science? 

a) Plato 

b) Aristotle 

c) Karl Marx 
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d) Thomas Hobbes 

 

66. Which date is observed as Human Rights Day? 

a) January 1 

b) May 1 

c) June 10 

d) December 10 

 

67. Article 17 of the Constitution: 

a) Protects individual freedom 

b) Grants right to equality 

c) Grants right to constitutional remedies 

d) Abolishes untouchability 

 

68. Which of the following is not a union territory? 

a) Pondicherry 

b) Mizoram 

c) Daman and Diu 

d) Dadra and Nagar Haveli 

 

69. Which part of the Indian Constitution has been described as the 

soul of the constitution? 

a) The Preamble 

b) Fundamental Rights 

c) Directive Principles of state policy 

d) Right to constitutional Remedies 

 

70. When was the Constitution of India adopted? 

a) November 26, 1947 

b) November 26, 1949 

c) January 26, 1950 

d) August 15, 1947 

 

71. Who is the father of ‘Economics’? 

a) Adam Smith 
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b) J. M. Keynes 

c) Hicks 

d) Marshal 

 

72. Development of a country can generally be determined by 

a) its per capita income 

b) its average literacy level 

c) health status of its people 

d) all the above 

 

73. A hard currency is one 

a) which is made by hard metal 

b) in which there are more currency notes than coins 

c) which is a legal tender 

d) the demand for which is persistently higher than its supply 

 

74. Which one of the following is not an instrument of Fiscal Policy? 

a) Public Revenue 

b) Public Expenditure 

c) Public Borrowings 

d) Cash-Reserve Ratio 

 

75. Production of a commodity, mostly through the natural process, is 

an activity in _________ sector. 

a) primary 

b) secondary 

c) tertiary 

d) information technology 

 

76. Which one of the following is true about Net National Product 

(NNP) at Factor Cost? 

a) It is equal to NNP at Market Price Indirect Tax Subsidy 

b) It is equal to GNP at Market Price - Depreciation 

c) It is equal to GNP at Factor Cost Depreciation 

d) Both (a) and (c) 
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77. The world famous 'Corn Belt' is in which country? 

a) Canada 

b) Peru 

c) South Africa 

d) USA 

 

78. Indifference curve slopes: 

a) From left to right 

b) From right to left 

c) Both a) and b) 

d) None of these 

 

79. Who is the Chairperson of National Development Council in 

India? 

a) Prime Minister 

b) President 

c) Vice-President 

d) Lok Sabha 

 

80. When the needs of the present generation are met without 

compromising the needs of future generation, it is termed as: 

a) Economic Growth 

b) Social Development 

c) Economic Development  

d) Sustainable Development 

 

81. The highest salinity is found in the: 

a) Red Sea 

b) Baltic Sea 

c) China Sea 

d) Dead Sea 

 

82. Manas in Assam is a: 

a) Wild life sanctuary 

b) Biosphere reserve 
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c) National Park 

d) Bird Sanctuary 

 

83. In which of the following states black soil is predominantly 

found? 

a) Uttar Pradesh  

b) Rajasthan 

c) Maharashtra  

d) Jharkhand 

 

84. Minerals are deposited and accumulated in the stratas of which of 

the following rocks? 

a) sedimentary rocks  

b) igneous rocks 

c) metamorphic rocks  

d) none of the above 

 

85. Uttarakhand, Uttar Pradesh, Bihar, West Bengal and Sikkim have 

common frontiers with 

a) China  

b) Nepal 

c) Bhutan  

d) Myanmar 

 

86. The wind blowing in the northern plains in summers is known as: 

a) Kaal Baisakhi 

b) Trade Winds 

c) Loo 

d) None of the above 

 

87. Which one of the following characterises the cold weather season 

in India? 

a) Warm days and warm nights 

b) Warm days and cold nights 

c) Cool days and cold nights 
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d) Cold days and warm nights 

 

88. In which of the following state is the Simlipal bio-reserve located? 

a) Punjab  

b) Delhi 

c) Odisha  

d) West Bengal 

 

89. According to the Census, a “literate” person is one who 

a) can read and write his/her name 

b) can read and write any language 

c) is 7 years old and can read and write any language with 

understanding 

d) knows the 3 ‘R’s (reading, writing, arithmetic) 

 

90. Which of the following rivers form the ‘Sunderban Delta’? 

a) Ganga and Brahmaputra 

b) Narmada and Tapti 

c) Mahanadi and Godavari 

d) Krishna and Kaveri 

 

91. Which religion does Bajrayana philosophy relate to? 

a) Jainism 

b) Buddhism 

c) Vaishnavism 

d) Shaivism 

 

92. Where is Tibet’s Government-in-exile? 

a) Calcutta 

b) Dharmashala 

c) Sanchi 

d) Bodhgaya 
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93. When did Dalai Lama take refuge in India? 

a) 1950 

b) 1959 

c) 1962 

d) 1964 

 

94. There are many organizations worldwide working towards 

Tibet's Freedom. One is SFT. what does SFT stand for? 

a) Save and Free Tibet 

b) Society for a Free Tibet 

c) Scholars for the Freedom of Tibet 

d) Students for a Free Tibet 

 

95. After which battle Tibet fell into Chinese hands? 

a) Nanjing 

b) U-sang 

c) Shigatse 

d) Chamdo 

 

96. In which century did the Tibetan Empire emerge? 

a) 7th  

b) 9th 

c) 2nd  

d) 1st  

 

97. What is the name of the ancient religion Tibetans had, very 

similar to the one Native Americans had? 

a) Kongtse 

b) Buddhism 

c) Islam 

d) Bon 

 

98. Some “good” to come out of the exile and persecution of the 

Tibetan Buddhists by the Chinese government has been 

a) That many Tibetan Buddhists have converted to other religions. 
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b) An extensive migration of Tibetan Buddhist teachers into almost 

every country in the world. 

c) Increased practice of Buddhist rituals. 

d) Increased wealth for Buddhists who remained in Tibet. 

 

99. Which Indian river has its origin in Tibet? 

a) Ganges 

b) Indus 

c) Brahmaputra 

d) Narmada 

 

100. Where did Dalai Lama stay before he fled Tibet? 

a) Buckingham Palace 

b) Potala Palace 

c) Versailles Palace 

d) Vienna Palace 

 

*********************** 


